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QUESTION 1

See the Exhibit to examine a portion of the output from the VALDIATE DATABASE command. 

Which statement is true about the block corruption detected by the command? 

A. No action is taken except the output in the exhibit 

B. The corruption is repaired by the command implicitly 

C. The failure is logged into the Automatic Diagnostic Repository (ADR) 

D. The ADVISE FAILURE command is automatically called to display the repair script 

Correct Answer: C 

 

QUESTION 2

The following databases are registered in the base recovery catalog: PROD1, PROD2 and PROD3. The database use
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CATOWNER owns the base recovery catalog. You want a new user VPC1 to have access to only the PROD1 database
and create a virtual private catalog: 

Given below are some of the commands required to achieve this: 

What is the correct sequence in which the commands have to be executed? 

A. 1,4,5,2,3 

B. 1,4,3,2,5 

C. 4,5,2,3,1 

D. 2,3,4,5,1 

E. 1,4,2,3,5 

Correct Answer: B 

 

QUESTION 3

To control the execution of a server process when it is receiving bad packets from a potentially malicious client, you set
the SET_PROTOCOL_ERROR_FURTHER_ACTION initialization parameter as follows: 

SQL>ALTER SYSTEM SET SEC_PROTOCOL_ERROR_FURTHER_ACTION = Drop, 10; Whist the significance of this
setting? 

A. It terminates the client connection after 10 bad packets and the client cannot reconnect to the same instance 

B. It terminates the client connection after 10 bad packets but the client can still reconnect and attempt the same
operation again 

C. It terminates the client connection 10 seconds after receiving a bad packet and the client cannot reconnect to the
same instance 

D. It terminates the client connection after receiving a bad packet and the client can reconnect to the same instance
after 10 minutes 

Correct Answer: B 

 

QUESTION 4

You performed an incomplete recovery and opened the database with the RESETLOGS option. The
LOG_ARCHIVE_FORMAT parameter is set to `ora_%t_%s_%r.log\\'. Which statement regarding the archived redo log
files, created in an earlier incarnation of the database is true? 
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A. The archived redo log files will be overwritten 

B. The archived redo log files are deleted automatically 

C. The archived redo log files should be moved to some other location 

D. The archived redo log files are still maintained because the file names are unique 

Correct Answer: D 

 

QUESTION 5

What is the advantage of settingthe ASM-preferred mirror read for the Stretch cluster configuration? 

A. It improves resync operations 

B. This feature enables much faster file opens 

C. It improves performance as fewer extent pointers are needed in the shared pool 

D. It improves performance by reading from a copy of an extent closet to the node 

Correct Answer: D 
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